mzYy2L b’/zg
glt?’
Eﬁ «,,'”,.{f\ri =0
= (>0
WF 250, md dapprse  |x-0|28 5 0<x<d .
y ff LS
Tan  [Tk-0] =Vx <[ =¢
7T
'ﬂ«w J(C)c 22_
e X" )
_E_’.(- X-=>3 (1 = 7 ; 4 = X
Lt €50 aml Shrfosc [x-3)<J\. _Iit’i‘: Car we Lan
Thew, 13 g somn
9] = [&-D0w3)] = I;'Z_I IY*??" Cowohudt 7
|
TH Ie3lel | M Ie3l<? |
J
and [y"—‘), = |x3 Ix+3l < IS¢ ol J‘:%
Pu‘l [ = mw 5';%
] . Ix=2[<| =2 x| 9
Ex . 52 (¥ -%3)=0 ——f——— x
- -] 23

Wk e20,  spose  faled

2
T |X-X-2-0]c I%2[IXl] ¢ @f=¢ S J= 3

7

Pul J = mn ﬂ,r/qg_




Bx g x#Ex=-L

b &0, [xe3]¢d
-




